



On A Generalized Pentanacci Sequence

Yüksel Soykan^{1*}

¹Department of Mathematics, Art and Science Faculty, Zonguldak Bülent Ecevit University, 67100, Zonguldak, Turkey.

Author's contribution

The sole author designed, analyzed, interpreted and prepared the manuscript.

Article Information

DOI: 10.9734/ARJOM/2019/v14i330129

Editor(s):

(1) Dr. Wei-Shih Du, Professor, Department of Mathematics, National Kaohsiung Normal University, Taiwan.

Reviewers:

(1) Francisco Bulnes Inamei, Tecnológico de Estudios Superiores de Chalco, Mexico.

(2) Ömür Deveci, Kafkas University, Turkey.

(3) W. Obeng-Denteh, Kwame Nkrumah University of Science and Technology, Ghana.

Complete Peer review History: <http://www.sdiarticle3.com/review-history/50267>

Received: 06 May 2019

Accepted: 16 July 2019

Published: 22 July 2019

Original Research Article

Abstract

The well known Pentanacci sequence is a fifth order recurrence sequence. In this paper, it will be defined an other generalized Pentanacci sequence and established some properties of this sequence using matrix methods.

Keywords: Pentanacci numbers; Pentanacci sequences.

2010 Mathematics Subject Classification: 11B39, 11B83.

1 Introduction and Preliminaries

In this work, we define a generalized Pentanacci sequence and establish some properties of this sequence using matrix methods. We use the matrix techniques as in [1].

Pentanacci sequence $\{P_n\}_{n \geq 0}$ and Pentanacci Lucas $\{Q_n\}_{n \geq 0}$ are defined by the fifth-order recurrence

*Corresponding author: E-mail: yuksel_soykan@hotmail.com;

relations

$$P_n = P_{n-1} + P_{n-2} + P_{n-3} + P_{n-4} + P_{n-5}, \quad P_0 = 0, P_1 = 1, P_2 = 1, P_3 = 2, P_4 = 4 \quad (1.1)$$

and

$$Q_n = Q_{n-1} + Q_{n-2} + Q_{n-3} + Q_{n-4} + Q_{n-5}, \quad Q_0 = 5, Q_1 = 1, Q_2 = 3, Q_3 = 7, Q_4 = 15 \quad (1.2)$$

respectively. P_n is the sequence A001591 in [2] and Q_n is the sequence A074048 in [2]. Pentanacci sequence has been studied by many authors, see for example [3], [4], [5].

The sequences $\{P_n\}_{n \geq 0}$ and $\{Q_n\}_{n \geq 0}$ can be extended to negative subscripts by defining

$$P_{-n} = -P_{-(n-1)} - P_{-(n-2)} - P_{-(n-3)} - P_{-(n-4)} + P_{-(n-5)}$$

and

$$Q_{-n} = -Q_{-(n-1)} - Q_{-(n-2)} - Q_{-(n-3)} - Q_{-(n-4)} + Q_{-(n-5)}$$

for $n = 1, 2, 3, \dots$ respectively. Therefore, recurrences (1.1) and (1.2) hold for all integer n .

Next, we present the first few values of the Pentanacci and Pentanacci-Lucas numbers with positive and negative subscripts in the following Table 1.

Table 1. A few Pentanacci and Pentanacci-Lucas Numbers

n	-9	-8	-7	-6	-5	-4	-3	-2	-1	0	1	2	3	4	5	6	7	8	9
P_n	2	0	0	0	-1	1	0	0	0	0	1	1	2	4	8	16	31	61	120
Q_n	-1	-1	-1	-7	9	-1	-1	-1	-1	5	1	3	7	15	31	57	113	223	439

For all integers n , usual Pentanacci and Pentanacci-Lucas numbers can be expressed using Binet's formulas

$$P_n = \frac{\alpha^{n+3}}{(\alpha - \beta)(\alpha - \gamma)(\alpha - \delta)(\alpha - \lambda)} + \frac{\beta^{n+3}}{(\beta - \alpha)(\beta - \gamma)(\beta - \delta)(\beta - \lambda)} + \frac{\gamma^{n+3}}{(\gamma - \alpha)(\gamma - \beta)(\gamma - \delta)(\gamma - \lambda)} + \frac{\delta^{n+3}}{(\delta - \alpha)(\delta - \beta)(\delta - \gamma)(\delta - \lambda)} + \frac{\lambda^{n+3}}{(\lambda - \alpha)(\lambda - \beta)(\lambda - \gamma)(\lambda - \delta)}$$

(see Theorem 2.2 in [6]) or

$$P_n = \frac{\alpha - 1}{6\alpha - 10} \alpha^{n-1} + \frac{\beta - 1}{6\beta - 10} \beta^{n-1} + \frac{\gamma - 1}{6\gamma - 10} \gamma^{n-1} + \frac{\delta - 1}{6\delta - 10} \delta^{n-1} + \frac{\lambda - 1}{6\lambda - 10} \lambda^{n-1} \quad (1.3)$$

(see for example [7])

and

$$Q_n = \alpha^n + \beta^n + \gamma^n + \delta^n + \lambda^n$$

respectively, where $\alpha, \beta, \gamma, \delta$ and λ are the roots of the equation

$$x^5 - x^4 - x^3 - x^2 - x - 1 = 0. \quad (1.4)$$

Moreover, the approximate value of $\alpha, \beta, \gamma, \delta$ and λ are given by

$$\begin{aligned} \alpha &= 1.9659 \\ \beta &= -0.67835 + 0.45854i \\ \gamma &= -0.67835 - 0.45854i \\ \delta &= 0.19538 + 0.84885i \\ \lambda &= 0.19538 - 0.84885i \end{aligned}$$

In fact, there are no solutions of the characteristic equation (1.4) in terms of radicals, see [8].

The generating functions for the Pentanacci sequence $\{P_n\}_{n \geq 0}$ and Pentanacci-Lucas sequence $\{Q_n\}_{n \geq 0}$ are

$$f_{P_n}(x) = \sum_{n=0}^{\infty} P_n x^n = \frac{x}{1 - x - x^2 - x^3 - x^4 - x^5}$$

and

$$f_{Q_n}(x) = \sum_{n=0}^{\infty} Q_n x^n = \frac{5 - 4x - 3x^2 - 2x^3 - x^4}{1 - x - x^2 - x^3 - x^4 - x^5}$$

respectively, (see [6]).

2 Main Results

We consider the generalized Tribonacci sequence defined by

$$E_n = E_{n-1} + E_{n-2} + E_{n-3} + E_{n-4} + E_{n-5}, \quad E_0 = 5, E_1 = 1, E_2 = 2, E_3 = 0, E_4 = 4. \quad (2.1)$$

The following Table 2 presents the first few values of the generalized Pentanacci numbers E_n with positive and negative subscripts:

Table 2. Generalized Pentanacci numbers E_n with non-negative and negative indices

n	-9	-8	-7	-6	-5	-4	-3	-2	-1	0	1	2	3	4	5	6	7	8	9
E_n	-4	12	-4	-13	9	0	4	-4	-4	5	1	2	0	4	12	19	37	72	144

Obviously,

$$x^5 - x^4 - x^3 - x^2 - x - 1 = 0$$

is also the characteristic equation of the sequence (2.1) and it produces four roots as $\alpha, \beta, \gamma, \delta$ and λ which are given above. The following Theorem presents the generating function of generalized Pentanacci numbers E_n .

Theorem 2.1. The generating function of generalized Pentanacci numbers E_n is given as

$$f_{E_n}(x) = \frac{5 - 4x - 4x^2 - 8x^3 - 4x^4}{1 - x - x^2 - x^3 - x^4 - x^5}. \quad (2.2)$$

Proof. Let

$$f_{E_n}(x) = \sum_{n=0}^{\infty} E_n x^n$$

be generating function of generalized Pentanacci numbers. Using (2.1) and some calculation, we obtain

$$\begin{aligned} & f_{E_n}(x) - x f_{E_n}(x) - x^2 f_{E_n}(x) - x^3 f_{E_n}(x) - x^4 f_{E_n}(x) - x^5 f_{E_n}(x) \\ &= E_0 + (E_1 - E_0)x + (E_2 - E_1 - E_0)x^2 + (E_3 - E_2 - E_1 - E_0)x^3 + (E_4 - E_3 - E_2 - E_1 - E_0)x^4 \end{aligned}$$

which gives (2.2).

We define the square matrix E of order 5 as:

$$E = \begin{pmatrix} 1 & 1 & 1 & 1 & 1 \\ 1 & 0 & 0 & 0 & 0 \\ 0 & 1 & 0 & 0 & 0 \\ 0 & 0 & 1 & 0 & 0 \\ 0 & 0 & 0 & 1 & 0 \end{pmatrix}$$

such that

$$\det E = 1.$$

E is called the generating matrix for the sequence (2.1).

Theorem 2.2.

(a) For $n \geq 1$, we have

$$\begin{pmatrix} E_{n+4} \\ E_{n+3} \\ E_{n+2} \\ E_{n+1} \\ E_n \end{pmatrix} = \begin{pmatrix} 1 & 1 & 1 & 1 & 1 \\ 1 & 0 & 0 & 0 & 0 \\ 0 & 1 & 0 & 0 & 0 \\ 0 & 0 & 1 & 0 & 0 \\ 0 & 0 & 0 & 1 & 0 \end{pmatrix} \begin{pmatrix} E_{n+4} \\ E_{n+2} \\ E_{n+1} \\ E_n \\ E_{n-1} \end{pmatrix}. \tag{2.3}$$

(b) For $n \geq 0$, we have

$$\begin{pmatrix} E_{n+4} \\ E_{n+3} \\ E_{n+2} \\ E_{n+1} \\ E_n \end{pmatrix} = E^n \begin{pmatrix} E_4 \\ E_3 \\ E_2 \\ E_1 \\ E_0 \end{pmatrix}. \tag{2.4}$$

Proof. (a) and (b) can be proved by using induction on n .

Next we present Binet formula for the generalized Pentanacci sequence $\{E_n\}$.

Theorem 2.3 [Binet Formula for the Generalized Tetranacci Sequence]

$$\begin{aligned} E_n &= 4\left(\frac{\alpha^n}{(\alpha - \beta)(\alpha - \gamma)(\alpha - \delta)(\alpha - \lambda)} + \frac{\beta^n}{(\beta - \alpha)(\beta - \gamma)(\beta - \delta)(\beta - \lambda)}\right. \\ &\quad \left. + \frac{\gamma^n}{(\gamma - \alpha)(\gamma - \beta)(\gamma - \delta)(\gamma - \lambda)} + \frac{\delta^n}{(\delta - \alpha)(\delta - \beta)(\delta - \gamma)(\delta - \lambda)} + \frac{\lambda^n}{(\lambda - \alpha)(\lambda - \beta)(\lambda - \gamma)(\lambda - \delta)}\right) \\ &\quad + 8\left(\frac{\alpha^{n-1}}{(\alpha - \beta)(\alpha - \gamma)(\alpha - \delta)(\alpha - \lambda)} + \frac{\beta^{n-1}}{(\beta - \alpha)(\beta - \gamma)(\beta - \delta)(\beta - \lambda)}\right. \\ &\quad \left. + \frac{\gamma^{n-1}}{(\gamma - \alpha)(\gamma - \beta)(\gamma - \delta)(\gamma - \lambda)} + \frac{\delta^{n-1}}{(\delta - \alpha)(\delta - \beta)(\delta - \gamma)(\delta - \lambda)} + \frac{\lambda^{n-1}}{(\lambda - \alpha)(\lambda - \beta)(\lambda - \gamma)(\lambda - \delta)}\right) \\ &\quad + 3\left(\frac{\alpha^{n-2}}{(\alpha - \beta)(\alpha - \gamma)(\alpha - \delta)(\alpha - \lambda)} + \frac{\beta^{n-2}}{(\beta - \alpha)(\beta - \gamma)(\beta - \delta)(\beta - \lambda)}\right. \\ &\quad \left. + \frac{\gamma^{n-2}}{(\gamma - \alpha)(\gamma - \beta)(\gamma - \delta)(\gamma - \lambda)} + \frac{\delta^{n-2}}{(\delta - \alpha)(\delta - \beta)(\delta - \gamma)(\delta - \lambda)} + \frac{\lambda^{n-2}}{(\lambda - \alpha)(\lambda - \beta)(\lambda - \gamma)(\lambda - \delta)}\right) \\ &\quad + 2\left(\frac{\alpha^{n-3}}{(\alpha - \beta)(\alpha - \gamma)(\alpha - \delta)(\alpha - \lambda)} + \frac{\beta^{n-3}}{(\beta - \alpha)(\beta - \gamma)(\beta - \delta)(\beta - \lambda)}\right. \\ &\quad \left. + \frac{\gamma^{n-3}}{(\gamma - \alpha)(\gamma - \beta)(\gamma - \delta)(\gamma - \lambda)} + \frac{\delta^{n-3}}{(\delta - \alpha)(\delta - \beta)(\delta - \gamma)(\delta - \lambda)} + \frac{\lambda^{n-3}}{(\lambda - \alpha)(\lambda - \beta)(\lambda - \gamma)(\lambda - \delta)}\right) \\ &= 4P_{n-3} + 8P_{n-4} + 3P_{n-5} + 2P_{n-6}. \end{aligned}$$

Proof. The general form of the generalized Tribonacci sequence can be expressed in the following form

$$E_n = A\alpha^n + B\beta^n + C\gamma^n + D\delta^n + E\lambda^n \quad (2.5)$$

where A, B, C and D are constants that can be determined by the initial conditions. Thus putting the values $n = 0, n = 1, n = 2, n = 3$ and $n = 4$ in (2.5), we obtain

$$\begin{aligned} A + B + C + D + E &= 5 \\ A\alpha + B\beta + C\gamma + D\delta + E\lambda &= 1 \\ A\alpha^2 + B\beta^2 + C\gamma^2 + D\delta^2 + E\lambda^2 &= 2 \\ A\alpha^3 + B\beta^3 + C\gamma^3 + D\delta^3 + E\lambda^3 &= 0 \\ A\alpha^4 + B\beta^4 + C\gamma^4 + D\delta^4 + E\lambda^4 &= 4. \end{aligned}$$

We can write above system in a matrix form as

$$\begin{pmatrix} 1 & 1 & 1 & 1 & 1 \\ \alpha & \beta & \gamma & \delta & \lambda \\ \alpha^2 & \beta^2 & \gamma^2 & \delta^2 & \lambda^2 \\ \alpha^3 & \beta^3 & \gamma^3 & \delta^3 & \lambda^3 \\ \alpha^4 & \beta^4 & \gamma^4 & \delta^4 & \lambda^4 \end{pmatrix} \begin{pmatrix} A \\ B \\ C \\ D \\ E \end{pmatrix} = \begin{pmatrix} 5 \\ 1 \\ 2 \\ 0 \\ 4 \end{pmatrix}$$

or

$$\begin{pmatrix} A \\ B \\ C \\ D \\ E \end{pmatrix} = \begin{pmatrix} 1 & 1 & 1 & 1 & 1 \\ \alpha & \beta & \gamma & \delta & \lambda \\ \alpha^2 & \beta^2 & \gamma^2 & \delta^2 & \lambda^2 \\ \alpha^3 & \beta^3 & \gamma^3 & \delta^3 & \lambda^3 \\ \alpha^4 & \beta^4 & \gamma^4 & \delta^4 & \lambda^4 \end{pmatrix}^{-1} \begin{pmatrix} 5 \\ 1 \\ 2 \\ 0 \\ 4 \end{pmatrix}.$$

Solving the above matrix system of equations for A, B, C and D , we get

$$\begin{aligned} A &= \frac{2(\beta\lambda + \beta\gamma + \lambda\gamma + \beta\delta + \lambda\delta + \gamma\delta) + 4 - (\beta\lambda\gamma + \beta\lambda\delta + \beta\gamma\delta + \lambda\gamma\delta) + 5\beta\lambda\gamma\delta}{(\alpha - \beta)(\alpha - \gamma)(\alpha - \delta)(\alpha - \lambda)} \\ B &= \frac{2(\alpha\lambda + \alpha\gamma + \alpha\delta + \lambda\gamma + \lambda\delta + \gamma\delta) + 4 - (\alpha\lambda\gamma + \alpha\lambda\delta + \alpha\gamma\delta + \lambda\gamma\delta) + 5\alpha\lambda\gamma\delta}{(\beta - \alpha)(\beta - \gamma)(\beta - \delta)(\beta - \lambda)} \\ C &= \frac{2(\alpha\beta + \alpha\lambda + \beta\lambda + \alpha\delta + \beta\delta + \lambda\delta) + 4 - (\alpha\beta\lambda + \alpha\beta\delta + \alpha\lambda\delta + \beta\lambda\delta) + 5\alpha\beta\lambda\delta}{(\gamma - \alpha)(\gamma - \beta)(\gamma - \delta)(\gamma - \lambda)} \\ D &= \frac{2(\alpha\beta + \alpha\lambda + \alpha\gamma + \beta\lambda + \beta\gamma + \lambda\gamma) + 4 - (\alpha\beta\lambda + \alpha\beta\gamma + \alpha\lambda\gamma + \beta\lambda\gamma) + 5\alpha\beta\lambda\gamma}{(\delta - \alpha)(\delta - \beta)(\delta - \gamma)(\delta - \lambda)} \\ E &= \frac{2(\alpha\beta + \alpha\gamma + \alpha\delta + \beta\gamma + \beta\delta + \gamma\delta) + 4 - (\alpha\beta\gamma + \alpha\beta\delta + \alpha\gamma\delta + \beta\gamma\delta) + 5\alpha\beta\gamma\delta}{(\lambda - \alpha)(\lambda - \beta)(\lambda - \gamma)(\lambda - \delta)}. \end{aligned}$$

Note that we have the following identities:

$$\begin{aligned} \alpha + \beta + \gamma + \delta + \lambda &= 1, \\ \alpha\beta + \alpha\lambda + \alpha\gamma + \beta\lambda + \alpha\delta + \beta\gamma + \lambda\gamma + \beta\delta + \lambda\delta + \gamma\delta &= -1, \\ \alpha\beta\lambda + \alpha\beta\gamma + \alpha\lambda\gamma + \alpha\beta\delta + \alpha\lambda\delta + \beta\lambda\gamma + \alpha\gamma\delta + \beta\lambda\delta + \beta\gamma\delta + \lambda\gamma\delta &= 1, \\ \alpha\beta\lambda\gamma + \alpha\beta\lambda\delta + \alpha\beta\gamma\delta + \alpha\lambda\gamma\delta + \beta\lambda\gamma\delta &= -1 \\ \alpha\beta\gamma\delta\lambda &= 1. \end{aligned}$$

It now follows that

$$\begin{aligned} &2(\beta\lambda + \beta\gamma + \lambda\gamma + \beta\delta + \lambda\delta + \gamma\delta) + 4 - (\beta\lambda\gamma + \beta\lambda\delta + \beta\gamma\delta + \lambda\gamma\delta) + 5\beta\lambda\gamma\delta \\ &= \frac{1}{\alpha^3}(4\alpha^3 + 8\alpha^2 + 3\alpha + 2) = (4 + 8\alpha^{-1} + 3\alpha^{-2} + 2\alpha^{-3}) \end{aligned}$$

Similarly we have

$$\begin{aligned}
 2(\alpha\lambda + \alpha\gamma + \alpha\delta + \lambda\gamma + \lambda\delta + \gamma\delta) + 4 - (\alpha\lambda\gamma + \alpha\lambda\delta + \alpha\gamma\delta + \lambda\gamma\delta) + 5\alpha\lambda\gamma\delta &= (4 + 8\beta^{-1} + 3\beta^{-2} + 2\beta^{-3}) \\
 2(\alpha\beta + \alpha\lambda + \beta\lambda + \alpha\delta + \beta\delta + \lambda\delta) + 4 - (\alpha\beta\lambda + \alpha\beta\delta + \alpha\lambda\delta + \beta\lambda\delta) + 5\alpha\beta\lambda\delta &= (4 + 8\gamma^{-1} + 3\gamma^{-2} + 2\gamma^{-3}) \\
 2(\alpha\beta + \alpha\lambda + \alpha\gamma + \beta\lambda + \beta\gamma + \lambda\gamma) + 4 - (\alpha\beta\lambda + \alpha\beta\gamma + \alpha\lambda\gamma + \beta\lambda\gamma) + 5\alpha\beta\lambda\gamma &= (4 + 8\delta^{-1} + 3\delta^{-2} + 2\delta^{-3}) \\
 2(\alpha\beta + \alpha\gamma + \alpha\delta + \beta\gamma + \beta\delta + \gamma\delta) + 4 - (\alpha\beta\gamma + \alpha\beta\delta + \alpha\gamma\delta + \beta\gamma\delta) + 5\alpha\beta\gamma\delta &= (4 + 8\lambda^{-1} + 3\lambda^{-2} + 2\lambda^{-3}).
 \end{aligned}$$

Hence we get

$$\begin{aligned}
 E_n &= A\alpha^n + B\beta^n + C\gamma^n + D\delta^n + E\lambda^n \\
 &= 4\left(\frac{\alpha^n}{(\alpha-\beta)(\alpha-\gamma)(\alpha-\delta)(\alpha-\lambda)} + \frac{\beta^n}{(\beta-\alpha)(\beta-\gamma)(\beta-\delta)(\beta-\lambda)}\right) \\
 &\quad + \frac{\gamma^n}{(\gamma-\alpha)(\gamma-\beta)(\gamma-\delta)(\gamma-\lambda)} + \frac{\delta^n}{(\delta-\alpha)(\delta-\beta)(\delta-\gamma)(\delta-\lambda)} + \frac{\lambda^n}{(\lambda-\alpha)(\lambda-\beta)(\lambda-\gamma)(\lambda-\delta)} \\
 &\quad + 8\left(\frac{\alpha^{n-1}}{(\alpha-\beta)(\alpha-\gamma)(\alpha-\delta)(\alpha-\lambda)} + \frac{\beta^{n-1}}{(\beta-\alpha)(\beta-\gamma)(\beta-\delta)(\beta-\lambda)}\right) \\
 &\quad + \frac{\gamma^{n-1}}{(\gamma-\alpha)(\gamma-\beta)(\gamma-\delta)(\gamma-\lambda)} + \frac{\delta^{n-1}}{(\delta-\alpha)(\delta-\beta)(\delta-\gamma)(\delta-\lambda)} + \frac{\lambda^{n-1}}{(\lambda-\alpha)(\lambda-\beta)(\lambda-\gamma)(\lambda-\delta)} \\
 &\quad + 3\left(\frac{\alpha^{n-2}}{(\alpha-\beta)(\alpha-\gamma)(\alpha-\delta)(\alpha-\lambda)} + \frac{\beta^{n-2}}{(\beta-\alpha)(\beta-\gamma)(\beta-\delta)(\beta-\lambda)}\right) \\
 &\quad + \frac{\gamma^{n-2}}{(\gamma-\alpha)(\gamma-\beta)(\gamma-\delta)(\gamma-\lambda)} + \frac{\delta^{n-2}}{(\delta-\alpha)(\delta-\beta)(\delta-\gamma)(\delta-\lambda)} + \frac{\lambda^{n-2}}{(\lambda-\alpha)(\lambda-\beta)(\lambda-\gamma)(\lambda-\delta)} \\
 &\quad + 2\left(\frac{\alpha^{n-3}}{(\alpha-\beta)(\alpha-\gamma)(\alpha-\delta)(\alpha-\lambda)} + \frac{\beta^{n-3}}{(\beta-\alpha)(\beta-\gamma)(\beta-\delta)(\beta-\lambda)}\right) \\
 &\quad + \frac{\gamma^{n-3}}{(\gamma-\alpha)(\gamma-\beta)(\gamma-\delta)(\gamma-\lambda)} + \frac{\delta^{n-3}}{(\delta-\alpha)(\delta-\beta)(\delta-\gamma)(\delta-\lambda)} + \frac{\lambda^{n-3}}{(\lambda-\alpha)(\lambda-\beta)(\lambda-\gamma)(\lambda-\delta)} \\
 &= 4P_{n-3} + 8P_{n-4} + 3P_{n-5} + 2P_{n-6}.
 \end{aligned}$$

Identities which is given in the following Lemma can be established using by matrix methods.

Lemma 2.4.

- (a) $P_n = \frac{1}{16\ 857}(1761E_{n+4} - 801E_{n+3} - 1317E_{n+2} - 105E_{n+1} - 861E_n)$,
- (b) $E_n = 4P_{n+4} - 8P_{n+3} - 4P_{n+2} + 9P_{n+1}$,
- (c) $E_n = \frac{1}{9584}(-296Q_{n+4} + 6192Q_{n+3} - 8552Q_{n+2} - 7568Q_{n+1} + 8448Q_n)$,
- (d) $Q_n = \frac{1}{16\ 857}(39E_{n+4} - 1176E_{n+3} + 10\ 041E_{n+2} + 4602E_{n+1} + 11\ 889E_n)$.

We now present a matrix formula for E_n which is called Simson formula.

Theorem 2.5 [Simson formula] For $n \geq 0$ we have

$$\begin{vmatrix} E_{n+4} & E_{n+3} & E_{n+2} & E_{n+1} & E_n \\ E_{n+3} & E_{n+2} & E_{n+1} & E_n & E_{n-1} \\ E_{n+2} & E_{n+1} & E_n & E_{n-1} & E_{n-2} \\ E_{n+1} & E_n & E_{n-1} & E_{n-2} & E_{n-3} \\ E_n & E_{n-1} & E_{n-2} & E_{n-3} & E_{n-4} \end{vmatrix} = 16\ 857$$

Proof. The proof follows from

$$\begin{vmatrix} E_{n+4} & E_{n+3} & E_{n+2} & E_{n+1} & E_n \\ E_{n+3} & E_{n+2} & E_{n+1} & E_n & E_{n-1} \\ E_{n+2} & E_{n+1} & E_n & E_{n-1} & E_{n-2} \\ E_{n+1} & E_n & E_{n-1} & E_{n-2} & E_{n-3} \\ E_n & E_{n-1} & E_{n-2} & E_{n-3} & E_{n-4} \end{vmatrix} = \begin{vmatrix} E_4 & E_3 & E_2 & E_1 & E_0 \\ E_3 & E_2 & E_1 & E_0 & E_{-1} \\ E_2 & E_1 & E_0 & E_{-1} & E_{-2} \\ E_1 & E_0 & E_{-1} & E_{-2} & E_{-3} \\ E_0 & E_{-1} & E_{-2} & E_{-3} & E_{-4} \end{vmatrix}. \tag{2.6}$$

The formula (2.6) is given in Soykan [9].

We now obtain the result of Theorem 2 (Binet formula for the generalized Tribonacci sequence $\{E_n\}$) using matrix method.

Second Proof of Theorem 2 using matrix method (diagonalization).

The characteristic equation of the generating matrix E is

$$0 = |E - xI_5| = \begin{vmatrix} 1-x & 1 & 1 & 1 & 1 \\ 1 & -x & 0 & 0 & 0 \\ 0 & 1 & -x & 0 & 0 \\ 0 & 0 & 1 & -x & 0 \\ 0 & 0 & 0 & 1 & -x \end{vmatrix} = -(x^5 - x^4 - x^3 - x^2 - x - 1)$$

where x is the eigenvalue of E and I_5 is the 5×5 unite matrix. Note that $\alpha, \beta, \gamma, \delta$ and λ are the roots of the characteristic equation $x^5 - x^4 - x^3 - x^2 - x - 1 = 0$ and also $\alpha, \beta, \gamma, \delta$ and λ are the five eigenvalues of the square matrix E . Next we find the eigenvectors corresponding to the eigenvalues $\alpha, \beta, \gamma, \delta$ and λ . We can find the eigenvector by solving the following system of linear equations:

$$(E - xI_5)u_x = 0$$

where u_x is the column vector of order 4×1 . First we find the eigenvector corresponding to the eigenvalue α . Then from

$$(E - \alpha I_5)u_\alpha = \begin{pmatrix} 1-\alpha & 1 & 1 & 1 & 1 \\ 1 & -\alpha & 0 & 0 & 0 \\ 0 & 1 & -\alpha & 0 & 0 \\ 0 & 0 & 1 & -\alpha & 0 \\ 0 & 0 & 0 & 1 & -\alpha \end{pmatrix} \begin{pmatrix} u_1 \\ u_2 \\ u_3 \\ u_4 \\ u_5 \end{pmatrix} = 0$$

we have the system

$$\begin{aligned} u_2 + u_3 + u_4 + u_5 - u_1(\alpha - 1) &= 0 \\ u_1 - \alpha u_2 &= 0 \\ u_2 - \alpha u_3 &= 0 \\ u_3 - \alpha u_4 &= 0 \\ u_4 - \alpha u_5 &= 0. \end{aligned}$$

If we take $u_5 = c$ in above system we obtain $u_1 = c\alpha^4, u_2 = c\alpha^3, u_3 = c\alpha^2, u_4 = c\alpha$. Thus the eigenvectors corresponding to α are of the form $\begin{pmatrix} c\alpha^4 \\ c\alpha^3 \\ c\alpha^2 \\ c\alpha \\ c \end{pmatrix}$ and in particular if we take $c = 1$

then the eigenvectors corresponding to α is $\begin{pmatrix} \alpha^4 \\ \alpha^3 \\ \alpha^2 \\ \alpha \\ 1 \end{pmatrix}$. Similarly, using the same technique, we see

that the eigenvectors corresponding to β, γ, δ and λ are $\begin{pmatrix} \beta^4 \\ \beta^3 \\ \beta^2 \\ \beta \\ 1 \end{pmatrix}, \begin{pmatrix} \gamma^4 \\ \gamma^3 \\ \gamma^2 \\ \gamma \\ 1 \end{pmatrix}, \begin{pmatrix} \delta^4 \\ \delta^3 \\ \delta^2 \\ \delta \\ 1 \end{pmatrix}$ and $\begin{pmatrix} \lambda^4 \\ \lambda^3 \\ \lambda^2 \\ \lambda \\ 1 \end{pmatrix},$

respectively. Let

$$P = \begin{pmatrix} \alpha^4 & \beta^4 & \gamma^4 & \delta^4 & \lambda^4 \\ \alpha^3 & \beta^3 & \gamma^3 & \delta^3 & \lambda^3 \\ \alpha^2 & \beta^2 & \gamma^2 & \delta^2 & \lambda^2 \\ \alpha & \beta & \gamma & \delta & \lambda \\ 1 & 1 & 1 & 1 & 1 \end{pmatrix}.$$

Now let

$$D = \begin{pmatrix} \alpha & 0 & 0 & 0 & 0 \\ 0 & \beta & 0 & 0 & 0 \\ 0 & 0 & \gamma & 0 & 0 \\ 0 & 0 & 0 & \delta & 0 \\ 0 & 0 & 0 & 0 & \lambda \end{pmatrix}$$

i.e., D is the diagonal matrix in which the eigenvalues of E are on the main diagonal. Then using the diagonalization of the generating matrix E we obtain $E = PDP^{-1}$. So we get

$$E^n = (PDP^{-1})^n = PD^nP^{-1}.$$

Using the above last equality and (2.4) and comparing the fourth row entries of the matrices we obtain desired result.

3 Conclusion

In this paper, we defined a generalized Pentanacci sequence and proved some properties of this sequence using matrix methods. The method used in this paper can be used for the other linear recurrence sequences, too.

Recently, there have been so many studies of the sequences of numbers in the literature and the sequences of numbers were widely used in many research areas, such as physics, engineering, architecture, nature and art. Many authors use matrix methods in their work. For example, in the articles [10], [11], [12], [13] and [14], the authors defined some linear recurrence sequences and gave their various properties by matrix methods. On the other hand, the matrix sequences have taken so much interest for different type of numbers. See, for example, [15], [16], [17] and [18]. It is our intention to continue the study and explore some properties of some type of matrix sequences, such as matrix sequences of Tetranacci and Tetranacci-Lucas numbers.

Acknowledgement

The author thanks the referees for their valuable suggestions which improved the presentation of the paper.

Competing Interests

Author has declared that no competing interests exist.

References

- [1] Soykan Y, Okumuş İ. On a generalized tribonacci sequence. Journal of Progressive Research in Mathematics. 2019;14(3):2413-2418.
- [2] Sloane NJA. The on-line encyclopedia of integer sequences. Available:<http://oeis.org/>
- [3] Melham RS. Some analogs of the Identity $F_n^2 + F_{n+1}^2 = F_{2n+1}^2$. Fibonacci Quarterly. 1999;305-311.
- [4] Natividad LR. On solving fibonacci-like sequences of fourth, fifth and sixth order. International Journal of Mathematics and Computing. 2013;3(2).
- [5] Rathore GPS, Sikhwal O, Choudhary R. Formula for finding nth term of fibonacci-like sequence of higher order. International Journal of Mathematics And its Applications. 2016;4(2-D):75-80.
- [6] Soykan Y. On generalized pentanacci and gaussian generalized pentanacci numbers. Preprints; 2019. 2019060110
DOI: 10.20944/preprints201906.0110.v1
- [7] Dresden GP, Du Z. A simplified binet formula for k-generalized fibonacci numbers J. Integer Seq. 2014;179.
- [8] Wolfram DA. Solving generalized fibonacci recurrences. Fibonacci Quarterly. 1998;129-145.
- [9] Soykan Y. Simson identity of generalized m-step fibonacci numbers; 2019. arXiv:1903.01313v1 [math.NT].
- [10] Deveci O, Karaduman E, Campbell CM. The fibonacci-circulant sequences and their applications. Iranian Journal of Science and Technology Transaction A-Science. 2007;41(A4):1033-1038.
- [11] Deveci O, Taş Sait, Kılıçman A. On the k-step Jordan-Fibonacci sequence. Advances in Difference Equations. 2017:121.
DOI 10.1186/s13662-017-1178-2.
- [12] Gültekin I, Deveci O. On the arrowhead-Fibonacci numbers. Open Math. 2016;14:1104-1113.
- [13] Kilic E, Tasci D. On the generalized order-k Fibonacci and Lucas numbers. Rocky Mountain Journal of Mathematics. 2006;36(6):1915-1926.
- [14] Kilic, E., The Binet formula, sums and representations of generalized Fibonacci p-numbers, European Journal of Combinatorics. 2008;29:701-711.
- [15] Soykan Y. Matrix sequences of tribonacci and tribonacci-lucas numbers; 2018. arXiv:1809.07809v1 [math.NT].
- [16] Soykan Y. Tribonacci and tribonacci-lucas matrix sequences with negative Subscripts; 2018. arXiv:1809.09507v1 [math.NT].
- [17] Uygun Ş. Some sum formulas of (s,t)-jacobsthal and (s,t)-jacobsthal lucas matrix sequences. Applied Mathematics. 2016;7:61-69.
- [18] Yilmaz N, Taskara N. Matrix sequences in terms of padovan and perrin numbers. Journal of Applied Mathematics. 2013;7. Article ID 941673

©2019 Soykan; This is an Open Access article distributed under the terms of the Creative Commons Attribution License (<http://creativecommons.org/licenses/by/4.0>), which permits unrestricted use, distribution, and reproduction in any medium, provided the original work is properly cited.

Peer-review history:

The peer review history for this paper can be accessed here (Please copy paste the total link in your browser address bar)

<http://www.sdiarticle3.com/review-history/50267>